$ % $ $ &
oo #l 0 $
"$ %
&' ! *++
"$ ’

L = b
—-n.---qm;uid-hu-nn-ﬁinu

SIEGE DE LA SOCIETE SANDOZ & RUEIL MALMAISON - VUE D'ENSEMBLE



(

!
) ' % - ./ 01 *++

" g 0$  » $ ()
$ 2 %
1+ 0+ % - /& 33+(*)45+++ , 331+
% 6 &
(# "% 777& & & &
# $  331+(*)424)4& % $#
_) -
.73 $ $ 07
$ 809 $: 0 I ()5&
it Lo< # ()= $ &0 <
! '&

*% )4 5+ *4

33 14'(*%)4 2+ ++

8 $ (4% 0>+$ 0& ? (533& # $



9
0

$ &# 7 $8.
$

$ 7 0% $
$ '&/$ $
$ &

7$ $ $%8! %
G$
$ $ %% 0

"H#H%
# ) .8 4%+ 8#:
8% 33!+ (*5+5*+ ++

$7% $#S

#o"H% $
$ 9 $79 $ $ D3
$ 7 $%08% &%
$ 0 +(+ $ $9%"#%7
0% &/%
0 0 3

8 9= $ 7 &F
0 $$ 073

T
“

79 $
0 7 7 $
< % $ (+&
$ 07 $ &
$7 $ 7 L3
0 & 7
$ $ J
0 $ $ &
$ $
7% &# $ %
0 $ $

J$ 9



7 $ A&M /$ (+)(5'%
I() (*3'&# =9 $3% %
$ M /3 (5 &. 8
$ 8 7%
0 $ $
$ $ 7%
7 % 0 &;
$ $ 9
# O<0 %% , - 0%
$ 0 A &: (5(
$ $97
&; $ 0
$" % $8
$ ;M = "
7 0
0 0 &/% =9% 7
7 $ $
$ &D$
8 09 %
0 A $ A&
$
7 $ 9 0 &
1% (- (5 $7
=9% 7 $ $ $ A
$
P
D$ 7 $ 9
7 $ $ !
$ 0
# O<0 &
# $ =9% H
$7 $ 97 $ %
[ $07 79
&= 9%
D$ 7 97 0
= $
$ $ % 7% 0
7 $0 $
= 9% &
= D$ 0
7 9& # A 7
0 $= 9% 07% %
$ A &JO 0

$ 9% % %: "

7% 7

97 $ $0
$ 0
++&- $
7 3%

)&4Q D$ H Q&

8

0 =95 % M =

$ 0& $0

$

$

0 $0% $



0 0 &DS% $7 $ A $ 70
$ $3 $ 3 0 $ A &; 7 7
$ $ $ 07 $ 7
M 8 0&
M = " $ $ D$ @ o $B
7% $ R&; $ % 97%7 % 7
7 87 $ A A 973 %
$ 3 $ $ & I$ 7 90
$ 0 $ &;
# 0 $ 9 D$ 9 0 0% & 7
$ $ =0 H" H $7 $ $ 0
I $ % $ &:I$ $ 7 3%
77 9 $ 7%% M = "&# $ $
7 9% $ $ 7
& $ $ 7 0% $
$ &B/$ $ $ %
$ $3 $ 7% 7 7 0
9 $ &
$ 0% $7 $ 79 $ 7 (5
(52 $ $ 0 7
$ 9 0 7 % & 1% $
$ &: $
7 $ 7 $ &1 7
$$ O $ $ A $ $
7 0&
1% 7% $ A7 $ $ 9 $ 9 97
$ $7 7 7% 03 &:!= D$
$ &'
; 7 $ 7 97 %
7% 7 $ $ 8 D$ 8 <
8 &B =9 MO ++3

$$ J 7 $ $ 9&



) 0% "10" % = 9$ = D$

oo*Mo" 1 1% %$ 8 $ $
&
7% $ = $ = 9% 0 %
= $ A 7 D$ H I 7 0
= 9% & , $ $ 079 % $ A
7$M 8 O 0 $79 $ &
I %
M 8 OI'S T 7 '&D$ 7% $79 7$M 8 O §$ 9 %
79 $ $ &/$ S
$ O 7% &I 7 % $
8 O $ 3 $ 70% 0! %,'&
< 0! =&#&'
"o " 0'l J
1%
I $
% 0

%
8A $ (5 ( 5* (52



"o " 2#
$ &
= H 0 7 $$
&/$8 O $ $ 0 0
0 7% % $ $ &: $
$ 7 9 $ 0 $ $ %$
8 H $ $
- $234 153" " $ % I $ A
$ 0 ++3& 0 0 $7
7 A $ 9 % &I A 7% %
$ $0 7 0 $ A 0 $
0 % $ &
6 ) ) T-+)- -
8 $ 79 & O 8% T, D$ #9% # OT%#H8## $
$7 3 0&= **T5h2 4)&
- ((5 7% o " $ 0 &
28" #8& <0 0 $ = 9% #$ #- 5 =
= D$ $ # 0O 8 &DS$ |, &H#HHTWHSHTH $ T= &
= $ D$ , D$ # 0 #9% T %#8# # $
$7 $ O
$ 0% ol (4 0 " 4+>58H#: &
I +()*))+23&1$ 79 $ A $ 0s
S 8 0& 0 $7 % &<0 %% , - ,
$ $ & 0 3 7 M = &
# 0 $ $ $%O0 &
: $ $ 3 0 $ = 9% 7 &
* 0l %
/$ 7 0D$ $7 71$ %% 9
$ $ $:# $ &
# 0 $ $ 7
79 , S |/ " % A ! $7 $
$ 1$ $:
$ TT777&0 & T7 $UV- 1 %> \ '
8
- i $ #3$ 5 3( $(4+ &3))+&
$ ;0 $ = D$ &%&H#S$ " & ()& #OHHT
%H8H&HE $ # $ $7 $ 0&
%% " D$ = $ T8 $ %$ &;=9 $
++2 & (
D$ = .3 X ((( 5&#
| 8%&"& &, S .0 0 0 #$% . 0 #" #E N
(0] W# $ J ++2&

$ 7 $ $ A 7 : $7% &



$ $
$ 9 $: 0
0
7 $ $
% 9 3H*++ $0% $
$ 7% 9
$ 0 $7 7'L3
0 7
$ &
s $ $
$ 0%
% $

7%
$ 0 $
$ 0
$ $7 $;
$ $ 97%

9 % &:
$ 7 I $
999
1115 $ 7

$ $ $0 $
$ & $ 0
$$ $ % $ & E
$ &1 $
7 7% $
7% 3$ 0 &N
& /%
$ A &% $
9 0 $ &I/%
$ 97% $
$ & # 9 %
0 $ A 3 7
15 $
79 $ % $ %
$
$ & E
9 $3 $ $

7

$

9&

0%



& /%

07 $7

7%



$7
&#

$3$

&%

& /%

$0
$ 3



D$ $ $ $ $

&&&? $WT7$ 1 3 70X&&&Y # 0 007 $ $ $83
$ &8&&;- 70 $ $ $ $
$ & I$ 7% $ =9 7,; 0% ; =
Ws$ W $ A
$%$ 3 07% 0 7 &=
77 $ 7$ $ %% 8

$ &



7

& =

(&)
0

$ 0789%

0%

&22  *&(+

7 7% %

&l



707 &I$
(*4& 1 $ $
7 0 $
&8 07 0 &#
$79% $ $

$ 5+ $
7%9%< $

o "o "
$ 97

6 ""0
$ 9

EN%- $
$ E N%-!(5 (5*

$ < 0 0
$$ D% = 9%
$ 7%/ %

8 2 ™o o""
1% $A 79 7 %

$ $
EN %-&8 $3$

0&:(57%

<05 "

A& $
, 90 %
$% $
7 $
$S$ & 0
9 $
$ 7% 3
&/ $ $
$ 0
7)
= 9% $9
&
$ $ 0
0 D$ 7 $
7 $ 0&/% $
& /% $ 083
08 0O07%$% 0 A 0%:/
7%$% %=8 O A $
$ $
0 = 9% 1S
$
7 % &:7 O
7 &;
79
$ $ $7 $/ 0
7 79
9 % 79 &
0 7$ $
$ 13 D$ 79%$9%
$ $ 73
& $ 0 $9%
$, 2 O $ - &,
$ 7%M 8 O
A 03
5" " =
&= D$ 18 <
8 $ % $ %:/
$ $%

$$

& 1%



79 $ $ A $&$ 0 79 $% $
$ J E $ $
0& = 9% 7 %
0 &: $ $
$0% $ % 7%3% 0 $ $0% $ $&
D$ 7 J 8 < 78, O =9 % # = &
# 7% $ 0 $ 7 % 0 0%
$ $ $ % 0 = 0
= 9% D$ $ 0% 0 $ $ $ M
/1$ &# $ $ $ 0 $ &:(5)
N $ $, N
&
# 9 7% $ 0 $
7 %
$ 7% $ &= $ $
$ 9 3 7 $ 0 0
0&/1$ 7 $ 7 $ $ 7 0&:
$ 7$M 8 O 0% 7% $
$ $ $ $
$ $ &- $ S $
7 $ &
I$ 0 0 $ 73$5%$9%
$ $3 0%
&I $ $ 3% 0 $7 $ &I $
$ 7% 7% A T7T%$$
$ $ J &I$ $ J 7
$ 9 7 0 0 $ &% $
$ $ !
$3 $ $ 3% 0 &# $ $0
0 0o $ $ $ 0! 7 9
: $ 0 $ &
$ $ $
$ &- $ $ $
7 $ &8 0 $ 0 $
$ &S $
$ 7 $8 $ 7% &: 9 $7%
$ %t 8 &
= $ 0$ $ $
79 0 .S |/ A &=0 $ 0 $
0 07 $ % / 7% $
7 $ $ $ $ 9 7
$$ &
. 0o 7 $ $ $78% 7 $

$ % %O 0 $ 7%



% 7$$ 7% (5 $7%

=7 (5( (53% $ 9 $ 7

$ $[ W-0 $ $#
0% 0 oM

1" 2™ H r2rrort "

9% 0 7% $
E 93
$ 8 (5(5%%E = 1J
E 8 (52 0%

$ 7% $79 9

$ =
$ " I(+4 (2%  , $
&# 90 $

& /% $

kg D QRMIQU L LT

$ $
&&&' 7% $ 3
79
$ 0 % 7
&: $ 5+ 4+
0 $

$ A &I* (5&/ %
(5%(52&" $N 08 (55(5&J

, (4+" $N O
(45 M
J E J 8
= D$ 7 $ &
$ 0& X&
0 7% $
$ $79 %
7 $ 7
79 0
& /% $ %
&1$ $
M $ $
$
$ &
$ 0 0
$ &NS$S $
&, $ $

&&Y



$$ $ A
$ 3 $ 0 &
< 7$ =
N $ $ $
00 $ 0 7$% &,
$ $ # 0 J 7
0 & /% $
$ 0 0&; 0%
$ 7

/ $ &

= 9% = (*( $
8 & $ $: 0
: = (4 (45
=7 (*4 (44 %
$ N 7™M 0%

0% ( W#S WHA W$

$ 7% % $
7$ E 0 7 $
0 0
$ = $ -
$ $ < / 0J
N7 -0 $, $8 08
8 O0OM = / &
7?9
$7
$ /= 0
$ E&& N
$ A 3 7
7% $ $ $ 7
$ 0 $ 7 & 1%

s $ 8 779
/1$ 0 #% $(4+73%

$ A 7% %
$ &
D$ 07%$9% 7
$ 3 EN%-! 8 3%
7 0
0 97% 9&:
$ 7% $ ;
$ &

7 #%$9 =95 = 9%
= (54(4+ $=09

$ O $% . I(2+ (24'&
= 0
$ J &
0 $ 9 $
7 $ $ T709%: %
% % 8 , 0#7 O
7%
= , 3 $
% $ # #
) $ J
$ $ A
= $8 /7 &:(5 &(((
# 9 7
0&: - =
$7 %
7 % 7579 0%
$ ; & D$
$ 0

79



>?) =) 7-) « -
I$0! A <- -=
#T%He#T#S $7 $ 0

$
? 1 0*1!' %

2o = 3 %
%$

F $ 8 9=
$ 7

$ TT)&3&)4&(*T T, +533(()&$

23 M O0+($A
&T T 1 T 23& "

A A 73%$8%
7% %
A $A7T % 0
$ 0% 0 0
$ 7

$ &

$ 8 9= 7 0&!
$ TT777& $& T $ T34)T&

1$ TT777&
$8E7$ $
0 $
&1&&& A $ $
&: ' $ A
$ 7 $



